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1. INEPERFIFELT 500m

JE4L E £ i (B5)) e 5% W =
1 #zE B3t AE /N 3 1.02.35
2 dtiE ME WININERR 3 1.06.85
3 —A&XK 5hiE RETEI /DR 3 1.13.79
4  INFK FNRE ERRINER 3 1.16.71
5 Bim 1RER ERRINER 2 1.22.64
6 JFH AR A E/NER 1 1.38.41

2. INEEBF4FE 500m

JE4L _E_#& B (B5)) 5% W =
1 BE E AHE/NER 4 57.20

3. IMNEEBFS5ELE 500m

JE4L E £ B (B5)) 5% W =
1 {F#& F*H NN 5 56.75
2 IRH #E A E /DR 5 1.03.31

4. INEEBF6ELE 500m

JE4L E % B (B5)) i 5% W =
1 —&KK Eth RETE/NFER 6 DNS

5. INEELFIFEALIT 500m

JE4L E_ £ B (B5)) i 4% W =
1 IR BRF ERINER 1 1.25.88

6. INPELFA4FE 500m

JE4L E £ B (B5)) i 4% W =
1 BR B# RETIE/NFER 4 54.59
2 TR X RETIAE /R 4 54.77
3 ER A& RETAL /MR 4 1.03.76

7. INPELFEEE 500m

JE4L K4 B (B5)) i 4% W =
1 dLE 3FHE WINER 5 57.92
2 B = ERRINER 5 1.31.28



9. HELELZF 500m

B4 E £ B (B5)) 5% W =
1 {FB& HAMn W R 1 46.45
2 FE E W R 2 46.64
3 R B CHEPER 3 4754
4 YW B KETE— iR 3 52.77
10. FE4EHEF 500m
B4z E £ B (B5)) i 5% W =
1 &F KM VNIt 53 1 52.04
18. INEERBFIFELELIT 1000m
B4z E £ B (B5)) i 5% W =
1 #zE B3t AENFER 3 2.10.43
2 dtiE ME WIINERR 3 2.27.98
3 —A&K 5hiE RETEI /DR 3 2.30.37
4 Ein [RER ERRINER 2 2.44.41
5 INKR FORE ERRINER 3 2.44.56
6 JFH i A E/NER 1 3.36.54
14. INEERFAEHE 1000m
B4 K% B (B5)) 453 W =
1 BE E AMHE/DNER 4 1.57.68
15. INEPERFSHEHE 1000m
B4 E £ B (B5)) 453 W =
1 FE =XH/ AMHE/DNER 5 2.03.35
RHF #Z AE /N 5 DNS
17. INBELZFIFELELT 1000m
B4 E £ B (B5)) 453 W =
1 IR BRF ERNER 1 3.26.35
18. INEEZF4E4E 1000m
B4 E £ B (B5)) i 4% W =
1 =BR EMR RETIE /AR 4 1.56.04
2 TR B RETIAL /R 4 1.56.29
3 ER A& RETAL /MR 4 2.14.33



19. INEELZFEEE 1000m

JE4L _E_#% B (B5)) 5% W =
iE Fha NN 5 2.00.58
Bin &= ERRINER 5 2.58.97
21. f24&E4LF 1000m
JE4L E % i (B5)) e 5% W =
1 {FE EK N2 A 2 1.31.83 REH
2 FE E LN ==E=at 53 2 1.37.26
3 {F#E RA{N LN ==E=at 53 1 1.37.57
4 Al EF ZRE R 1 1.42.44
5 &HE ® KETE— iR 3 1.52.97
6 A ¥ KETE— iR 1 1.57.96
22. fE4EBF 1000m
JE4L E % B (B5)) i 4% W =
1 &F KM VNIt 53 1 15713
24. b4 4F 1500m
JE4L E % B (B5)) i 4% W =
1 FE EK VN2 A 2 22218 REH
2 Al == ZREhER 1 2.32.07 REH
3 @ ¥ KETE — iR 1 2.56.70
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